Question Paper Title : TI_21

Date of Exam : 17-07-2019 10:00 AM

Reference 1D:(12502)

Answer:

Reference 1D:(12509)

Answer:

Reference 1D:(12512)

Answer:

Choose the option that has the correct spelling.

A.Cantinuous
B.Continous
C.Continuous

D.Cantinous

C.Continuous

Choose the appropriate collective noun to complete the sentence:

was missing from the queen’s jewel box.

A.A piece of jewellery
B.One item of jewels
C.A jewellery

D.A casket of jewels

A.A piece of jewellery

Choose the appropriate articles for the given sentence:
young woman was softly reading poem to young

child sitting on __ chair.

A.An, the, the, an
B.The, the, an, the
C.A, a, the, the

D.An, an, the, a

C.A, a, the, the



Reference 1D:(12788)

Answer:

Reference 1D:(12773)

Answer:

Reference 1D:(12776)

Answer:

Reference 1D:(12792)

Uy frgT=aT SIF ST IradT g4
CX, DW, EV, FU,?

A.GH
B.EF
C.GT

D.EV

C.GT

Wefielien! v Iesi! fUw 3Me?

Adiges
B.HE

D.H®bT

B.ARY

TRIRAT ST TR § TS BidTd:

A SfaTT
C.aRM
BRG]

D.OleIgna

e SImft g ke fag sRaar guf
4,7,13, 23, 38, 59,

A.72

B.80

c.87



Answer:

Reference 1D:(12798)

Answer:

Reference 1D:(12774)

Answer:

Reference 1D:(12521)

Answer:

Reference ID:(12772)

D.95

c.87

T o7 T TRt SIS 48 3R, 3NfYT oR ald deT STl STy 3MT8:

A.16
B.18
C.20

D.14

D.14

HERTY AL SETS 55% § 311 FHIUTT @ITcu! PIordl YbRe
ERERIGICEICENT

A IS SR Ugrel o+

B.SWIh e g dRE! UHAS! o

C.dead! 3f gaeett g

D.37¢f-Tareid a

B IS HRS! UHsIS! a-

Choose the appropriate conjunctions for the given sentence:

He doesn't speak Spanish, his wife does.

A.as
B.but
C.since

D.because

B.but

e IS frdre ace HUUTS! YRR Hera AfewsT gd U Wi
PN fAas HRuard 3eit?

A furelt I



B.YRq TRel
C.adt zmf

D.Jdt HYTT

Answer: A foruret I

Reference ID:(12533)  U&Id aTa0rd SERI ara &,
“Tfer g1 7R faelt €7 .
AR et g faelt =R
B.Rf 8T R e gl
C. 81 R TR e g1
DR 81 Rl g9 el

Answer: AT Har g fadt

Reference ID:(12796) Ul dkiiall 45 FAACA 6 fobHt SidR HTUR 315, SR A THUI a2 G
e Jemed 3¢ Sick B, R RIead 0 IdRd 3R HTIUIRITST,
/el e a7 &1 SRl gd1?

A.14 Ted A
B.12 fpHi/amg
C.10 foH AN

D.8 fdtam

Answer: B.12 fpHi/ag

Reference ID:(12547)  Jeld alddd faRTARIG Siesl.
1 URERTT R R ar, fosea, JHHT 3= EET ¢t gidr.
A XTelfaR™

B.3rquffarmH
c.3rdffRm

D Farrg

Answer: A TR



Reference 1D:(12756)

Answer:

Reference 1D:(12504)

Answer:

Reference 1D:(12752)

Answer:

Reference 1D:(12766)

Seid ata 39 YdesT, ‘Ueden JasT, TeRTaedl THaT
Rreamea 39 R 31R.

A QTSI

B.yHfer
C.oparsan

PRIEEAE]

C.Farfsar

Identify the sentence that has a mistake in capitalization or punctuation.
A.My least favourite season is, Winter.

B.We will be visiting the museum next Sunday.

C.Dr. Meera served as secretary for the club.

D.He walked all the way home. He shut the door.

A.My least favourite season is, Winter.

WIATADT IV TERIFTR A IAR G AT8a?

A et
B.AHaT
C.Terat
D.3WN

AT

i1, AE-2019 e W] Haliara! R & Foiel T =iy
33T FRfhH R,

A MR 3fRTes TRNMeH IR (341

B.RETUT TRITEA ST0T [depT™y TRAT (STRS 13T

C.Ad 3nfor Afifer arg HIARRA (e



D.HTHT 3105 Fie g (STTama)

Answer: A MR 3feRTes L TRT (340

Reference ID:(12758)  RdT Ufgdl "SI S (SAeR! UIh) I R 3113

A faeit
B.AIRIB
CARTQR
DA &g

Answer: D.Ad s

Reference ID:(12759)  HI0rT a8 HgTedT et aféror siflrdhaer YRdTd tRad Sfor [act YRara
WA deare eI rar?

A.1900
B.1905
C.1910

D.1915

Answer: D.1915

Reference 1D:(12782) TR el
19, 27, 96, 98, 55 & 47

A47
B.57
Cc.97

D.27

Answer: B.57

Reference ID:(12787) SR P =16, TAP =37, dXCUP =7

A40

B.38



C.36

D.39

Answer: A.40

Reference ID:(12540)  fadiedT UTqd ‘Fea (AITUd) T S,
B0

AD
B.heu
C.Hal

D.pdld

Answer: B. &M

Reference ID:(12530)  SIIS¥Ieq AHAdT Xeq 35l

AYTIRATRR
B.YICHIC

C.YiTam

Answer: PACGICRTU]

Reference ID:(12771)  FERIZHET GER T S UTh § SINTIETG foreaite U digeamdid argina
3ifor Taras R 3.

A. YTid
B.@Rfe

D.GareHl

Answer: A. 4ITd

Reference ID:(12537)  fadiedn Srestd uRad HRUgRITS! O gafg fAasr.
TR AT 3TN (3MTR)



Answer:

Reference 1D:(12760)

Answer:

Reference ID:(12541)

Answer:

Reference 1D:(12525)

Answer:

A 3ol
B.33dTd
C.3al
D.33Td

C.3¢dIl

SHaRT 2019 AL ATl daed, HERIFHEd S a1 J 51 SUSUarl
FTed, HRAT SITUHTAT HIVAT Sfasarard HRA gl raradrHe
YifaIhT GRS HRUTT STl Bleit?

A.26
B.32
C.38

D.44

B.32

eId areTdiel STl YR el
BT ITCd DI 31T I § ol

A JHTTadt 3oy
B.RTeclTil 3fead

C forarfarivu ereqy
D.hadyNT 3o

D. BTN 3T

Choose the correct form of tense for the given sentence:

He and antiques for a living.

A. is buying, sell
B.buy, is selling
C.buy, sold

D. buys, sells

D. buys, sells



Reference 1D:(12522)

Answer:

Reference 1D:(12770)

Answer:

Reference 1D:(12757)

Answer:

Reference 1D:(12516)

Choose the most appropriate usage to fill in the blank in the given sentence.
I’'m afraid, the Manager is at the moment. He’s in a meeting.

A.nonavailable
B.inavailable
C.unavailable

D.misavailable

C.unavailable

YRAT FEad S HeeRaTIRIg T U WIeiaud! HIv HRd?

AT

B.Ud Uy
C.Idq
PACKEEEI

ATyl

AU HI0T TP HERTY AN Ufgel IR °d 5d?

A Fd PR
B.Id AMd
C.Id AR

D Id gadaTs

C.Id IR

Which of the following options best combines the two given sentences?

The benefits of working from home are many. The disadvantages can’t be
ignored.

A.The benefits of working from home are many and the disadvantages can’t
be ignored.

B.The benefits of working from home are many, but the disadvantages can’t
be ignored.



Answer:

Reference 1D:(12549)

Answer:

Reference 1D:(12511)

Answer:

Reference 1D:(12519)

C.The benefits of working from home are many, so the disadvantages can’t
be ignored.

D.The benefits of working from home are many so that the disadvantages

can’t be ignored.

B.The benefits of working from home are many, but the disadvantages can’t
be ignored.

YU HI0TdT Gadraed Juf ATgr?

AT
B
C

DY

AT

Choose the option with the appropriate suffix to complete the given
sentence:

The process of transferring blood from one person to another is known as a
blood fusion.

A.trans--
B.per--
C.re--

D.dis--

A.trans--

Choose the option with the best prepositional phrase to complete the given
sentence:

| told my sister | will catch up next week when I'm

A.by coincidence
B.in town
C.on the run

D.behind schedule



Answer: B.in town

Reference ID:(25014) 600 foiiaa IgIUMAL, faHMTET a7 WIS GaAMHMRS HHT HRUATA T,
YA ATal AR T 200 fo i/ et ol el SAfoT SgTomn dcs
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2diH
1
1;F|TH
1
~diF
2
1diE

Answer: ]. a—m

Reference 1D:(12543) TTeTd - SUIRT Teg il
3ryf, IraTan, IR, Arae
A.31ef
B.graTal
CIR

D.dldc

Answer: D.drdc

Reference ID:(12751)  J&Id aIadTd UAMAKId 3 AGER Adel.
e UTé forae Qde=ard Ag-d arar e,

ATIUN g8y

B.USYS B0l

C.3% Heur
D. 3T @Tq0!

Answer: A TTOR TS0



Reference ID:(12538) ARG YA (a8 .

Answer: ATSH

Reference ID:(12775)  WTcidUe! 10T a%q TaUHTRI AT81?

A

B.dRI
cdg

D.faggd fear

Answer: c.dg

Reference ID:(12784) 40 T XisT 8 TATATYHT0! Uh B 21 feawid guf Hrard. &R o9 &M 7 fGawid
quf FRUGRITST 120 BT A el T BT F1d ARIa.

A8 dri™d
B.9 d¥
c.10d™

D.12dNY

Answer: A.8 di¥

Reference ID:(12763) 1976 T HIVIAT gkl I, YR HiAUMMEL ARRS AT Gayd
Hard! T FHY Helr?
A5
B.98
C.60 "

D42

Answer: D.42 %"



Reference 1D:(12795)

Answer:

Reference 1D:(12764)

Answer:

Reference 1D:(12797)

Answer:

Reference 1D:(12518)
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e 4Re sradia, R Rrageht 4R et faamafd cabart w1
3Te?

A.30%

B.60%

C.75%

D.78%

D.78%

2019 B3] UIST el HEITd (ol IUUh) HERTZHUTT DI ERHE HIOR
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ATSE

B.gUI

CATTR
D.ATRI®

ATSE

852, 1065 31T 1491 AT H.91.91. HIal.

A.213
B.212
C.21

D.210

A.213

Choose the appropriate prepositions for the given sentence:

There has been great improvements the way products are marketed
the years.

A.over ... in

B.in...in



Answer:

Reference 1D:(12754)

Answer:

Reference 1D:(12505)

Answer:

Reference 1D:(12514)

Answer:

C.for...on

D.to ... over

D.to ... over

TRUN &RUT HRAMNS HIordn Isam el fRd 3iig?

AHERTY
B.Tf3H &d

C.ToRTd
D.legR

ATERTY

Choose the appropriate option with the correct punctuation marks for the
given sentence:

yesterday | attended a dance competition thats marvellous

A.Yesterday | attended a dance competition; thats marvellous.
B.Yesterday | attended a dance competition. That's marvellous!
C.Yesterday | attended a dance competition that’'s marvellous!

D.Yesterday, | attended a dance competition that’'s marvellous.

B.Yesterday | attended a dance competition. That's marvellous!

Choose the correct form of verb for the given sentence:

The regional languages should be as the media of instruction in the
respective states.

A.implemented
B.adopted
C.adapted

D.accepted

B.adopted



Reference 1D:(12508)

Answer:

Reference 1D:(12779)

Answer:

Reference 1D:(12513)

Answer:

Reference ID:(12753)

Fill in the blank with the correct noun for the given sentence:

At some point, every person suffers from

A.absenteeism
B.absentia
C.absentness

D.absent-mindedness

D.absent-mindedness

aF BRI Ther had I, 8 fhar 10 939 e var:t Yyrerdr &d:

A1/6
B.2/9
C.2/3

D.1/4

B.2/9

Choose the appropriate articles for the given sentence:

Indian Railways is biggest railway network in world
and Aramco Railway comes close second.

A.A, a, an, the
B.The, a, the, a
C.The, the, the, a

D.The, a, the, an

C.The, the, the, a

31 SATIOT ! Weed g TUH Sfeiahrs WIATid! IV ATHIH HRodd
3Tel?

AIDR Tg

B.TH.TY. 4ifar

C.4T SR



D. 3N T

Answer: AR A

Reference ID:(12548)  d, §, 3T § HIUIAT [qUTid T 3HTgcl?

A NS

B.UYAT
ok EILE
D.gwHt

Answer: D. gqHt

Reference ID:(12542)  Jeid arddTdid SHURRAT Sl UHR el
GEIREERRRE

A feparfaRivur ereqa
B.RleclTil 3fead
C.haduantt 3feug
D.JHTTadt 3oy

Answer: A forarfaRiyur sy

Reference ID:(12534)  Jeid aigdrdl UHR el
TADIC UG offl HRUI TS Uad 3 aled 3Tg.

Agsrff

B.fs arey
C. g aT™
D.%dd ardg

Answer: B.Fy a1

Reference 1D:(12520) Choose the most suitable conjunction for the given sentence:

The chairman is a kind person; , he's related to me by marriage.

A.however



B.moreover
C.in addition to

D.beside

Answer: B.moreover

Reference ID:(12767) 20 ™ [debT<AT RATATaT SHHTd YR 81 T hifdbRI Jue
SR HERIYIT Yo VAT Tall.

A fSdeid seart
B.3ffora &

C.dIell gladld

D.TaR®R §¢

Answer: D.TaR&R &Y

Reference ID:(12762)  WgdR} 2019 A& FATidd el R ST, HERTg e drdt
TS HYA GRTAT UT0GTET I HRUR 3T,

A TR ST

B.SY

C.gdds STH%ha Bt
D aT=if

Answer: C.gads STH%Ba Bt

Reference 1D:(12503) Choose the option that has the correct spelling for the missing word in the
given sentence:

Their company used to offer services on that field.

A.professionel
B.profesional
C.profeional

D.professional



Answer: D.professional

Reference ID:(12529)  Rdedl- Xrsawerd favgrdf wrsg sfteswr.
R T [ Q—

Afdge

B.dfay
C.3ff[gecms

D.g&!
Answer: D.W

Reference ID:(12539) I =UTE U41g fAag TMeaed ST 4T .

Answer: C.Hdl-hdl

Reference ID:(12777) SR C = 3 AT POLISH = 79, @ POINTER = ?
A.95
B.96
c.97

D.98

Answer: c.97



Reference 1D:(12506)

Answer:

Reference 1D:(12535)

Answer:

Reference 1D:(12515)

Answer:

Reference ID:(12507)

Choose the correct form of adjective for the given sentence:

Sam posed to know everything about the guitar, but he was really just a

A.supernumerary
B.chimera
C.catalyst

D.layman

D.layman

UeId aT1e areA arg i i,

A. 3T YTes+! Uad g Iy guf Sire.
B. 3{THT TS Ueag a9 guf 3.
C.3{TH=T e Uadh ayf guf e,
D. 3T Tesdl Uadi oy quf Smeft.

D. 3T Yresal Uadi o quf gmeft.

Choose the most suitable determiner for the given sentence:

She didn't like of the desserts.

A.any
B.much
C.al little

D.more

A.any

Choose the correct form of adjective for the given sentence:

Do you think these birds are to India? At least | have not seen them
anywhere.

A.ingenuous

B.fluent



Answer:

Reference 1D:(12761)

Answer:

Reference 1D:(12544)

Answer:

Reference 1D:(12794)

Answer:

C.indigenous

D.exigent

C.indigenous

O AETHINR, ¢d AR, THT IEHH TUFER! S Sffd, o
LINREIREGH

A.22¢
B.23%
c.247

D.257

C.247

Jeid ariaeid faRIvor e,
I GEAHBIAe (e R U a3t i ThHT dadid aTgd dlea 3ed.

A G&IdH
B.TeT
cCuUH
DA

B.UdhT

THT A 2000 T Mg 2 FHaARIAT 4% ol avlesdl ¥4 faemdf wmed
IR Bidl AT 3 AT (28/3)% et aiesdl ¥ fagndf Mmead Jufyd
B, T el ol erene Sufkyd faemaf Ten wrRw i, s
et I B 3MTg?

A.400

B.1200

C.800

D.600

D.600



Reference ID:(12532)  Weiid ArqdTdid SRRad Weara felT 3feswr.
gy d& ANTAT 3 IrIa!

AgfcT
B. T

C.AYHB T
D.3yafeHT

Answer: AgfiT

Reference ID:(12790) 26 STHART 2015 ST HIUAT Gy giar?

A TR
B.HIdR
C.§YdR

D.IFaR

Answer: A QAR

Reference 1D:(12800) @rell feeTedT AT, 9aTd ATl HI0TIT 3er?




<A
L

Reference 1D:(12510) Choose the option with the appropriate suffix to complete the given
sentence

A country that is extremely nationalistic is nationalistic.

A.per--
B.corp--
C.ultra--

D.tri--

Answer: C.ultra--

Reference ID:(12545)  a1g UgTg fAag Siia! @,
DI

ATTGE
B.7Td

c.4gic

D.d3®

Answer: B.1Td

Reference ID:(12791) el fdied sjaaided sicvTam Ueh fafiy o fdiar 3iTe. ATuR g A

38,49,62,72,77,91, 101

A.49
B.72
c.77

D.91

Answer: B.72



Reference 1D:(12786)

Answer:

Reference 1D:(12789)

Answer:

ﬁﬁﬁwwwﬁaﬁaﬂwwwmwﬁmw
?

6 A Street, Next to Wall Street Exchange - Karama, Dubai - United Arab
Emirates
+971 4 397 0970

(i) 6 A Street, Next to Wall Street Exchange - Karama, Dubai - United Arab
Emirates
+971 4 397 0970

(ii) 6 A Street, Nevt to Wall Street Exchamge - Karana, Dubai - United Arab
Emirates
+971 4 397 0970

(iii) 6 A Street, Next to Wall Street Exchange - Karama, Dubai - United Arab
Emirates
+971 4 397 0970

(iv) 6 A Street, Next to Wall Street Exchange - Karama, Dubai - United Arab
Emirates
+971 4 397 0970

C.iii

D.iv

8000 FUUTUH! HTal IgHH Ufd a¥ 6% T3 30T IR TawH ufa a8 5%
R B3, SUaTd SHTell. Grgiay 5 auaed fA@Iad THl TR A 2100
IUY 38, R Ul a¥ 6% A fedielt IgwH giat?

A.2000
B.1800
C.2200

D.1600

A.2000



Reference ID:(12546)  Jeld aldIiaed gl o 3oy Tl

Answer: D.4ur

Reference ID:(12536) &Rl SIFT 9Y s Hasl.
(53| G 16231 SR EG G AR ER e oy — A AN Had ared TUI.

Afadg

B.3[qidR

cgd
D AN

Answer: Afadg

Reference ID:(12780)  Te&T Y S1for Torg Iiean qaiAeia TOIRR 5:7 3MT8. 6 W, gHed 99 26
TS SR, e Yord 9 Y 37152

A.10 T
B.31 %
C.28 I
D.20 9§

Answer: C.28 Ty

Reference ID:(12769) R MG SRNTER Wd:df Y& 39 S« gIVATIRL araquarara!
fasu@ el IAGARTE HHId HH! fbd! Td (FaaM dHaed THUT aY Haidd!)
fPresTara gdta?

A.1/6th

B.1/31



Answer:

Reference 1D:(12526)

Answer:

Reference 1D:(12793)

Answer:

Reference 1D:(12783)

Answer:

C.6%

D.3%

A.1/6t

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

The chairman’s speech at the inauguration was the usual mumbo-jumbo.

A.large
B.gibberish
C.elaborate

D.majestic

B.gibberish

e ST Al Tveat fagH aar guf &
5,3,4,75,17,

A.35

B.42

C.45

D.50

C.45

SR HAND =T Tidsfad Ueq ICQH 3T Saa SITd 38 a= ZIPPER a1
Fichfdd e HIT ST SIS 2

AAKSTJIX

B.AJQQFS

C.AJSTFS

D.AJQQJX

A.AKSTJX



Reference 1D:(12781)

Answer:

Reference 1D:(12799)

Answer:

Reference 1D:(12550)

Answer:

Reference 1D:(12765)

8T BT g a1 ATt gerd HIATUe 7 a9 HIsT 3. S aui-i, & 9
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A4 T
B.7 9%
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D.6 9%

c.5a%
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A.6.5%

B.5%

C.4.25%

D.4%

D.4%
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Answer:

Reference 1D:(12755)

Answer:

Reference 1D:(12527)

Answer:

Reference 1D:(12785)

Answer:

A e ggaM
B.8UYd i
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A3 aefa
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i<t TRe g 2019-20 M TurATSTET SfART srfdeded TeR e,

A 30T Sieat

B.fOg= Mg

C.gIR grrdtar

D.gHTY I T

C.gIR grrctar

TR HIA TS e 3R A Bl e, ATl THS o 37 -

A USRI BI01.

B ARTHIEY 31 B0,
C.SITGeIuT BIuL.
D.USIS BIUI.

C STgeium gov.

Y fedeh UM S arid eTSy HRdl, IR IR dad ™ U o dTid ey Rl
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A1 12 fafe
B.2 ¥ 24 fafe
c.2ag 12 fafae

D.3d¥

B.2 A 24 fafve



Reference 1D:(12517)

Answer:

Reference 1D:(12778)

Answer:

Reference 1D:(12524)

Answer:

Reference 1D:(12523)

Choose the correct form of modal auxiliary verb for the given sentence:
Rajiv: | am afraid I'm not quite ready.

Ram: Never mind. | wait for you.

A.can't
B.should
C.will

D.needn't

C.will

G WG defHieTdl HHHT Wesd 3HTed. SR 1 T Woslg I o=t
HHTHT 0.48 3T, TR 2 T WeATggR HIHAT FRUTT HHTSHAT BT 3AT?
A.0.52
B.0.48
C.0.62

D.0.44

B.0.48

Out of the following options, identify a compound sentence.

A.Sky was clear and the stars were shinning in the sky.
B.There was a wonderful breeze.
C.The moon shone in the dim light.

D.Casting its shadows in the jungle.

A.Sky was clear and the stars were shinning in the sky.

Choose the correct form of verb that is in agreement with the subject:

“Gulliver’s Travels” written by Jonathan Swift.

A.is being
B.was

C.are



D.were

Answer: B.was

Reference ID:(12768)  FERIFTIIA Ufgei TR AISHT HIVIAT FoTeqlTd FRUd 37

ADIRIR
B.3MTETG
cAlds
Ddls

Answer: D

Reference ID:(12531) BT ST a1 Wegx U SSeq EI;UTW

A SHd
B.aH

c.3d

Answer: D.IRIE

Reference ID:(12528)  feoiean uafaite arg fawgrdf uafa e,
SRIGT-
ARG
B.3MRIgUI

C.3{Tdda
D. 3{Tfel =

Answer: B.H’IﬁE'UT



